Speed and Time
Plus — Minus

Concept Lecture - 4




Due to inclement weather, an air

200 xjg'OO - é@‘BO 0) X Z plane reduced its speed by 300

2 e km/hr, and reached the destination of
1200 km late by 2 hrs. Then the

@ schedule duration of the flight was
e — — @9 #AlEH A FRoT fFA garE

b) 1.5 hour
d) 2.5 hour
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A covered a distance of 240 km at a certain
speed. Had his speed been 8 km/h less, then the
time taken would have been one hour more for
covering the same distance. How much time (in
hours) will he take to cover a distance of 480 km
at his original speed?

A & fARadT afd @ 240 km # gh T
HdT g1 Ifg 3| afad 8 km/h HH g, ar
346 gt A 9T F A TH T HOF wHT
SCAT| 9§ 9 FHer AT F 480 km HT gl
ag A H fhdelr 9877 (Fer /) |I?

a)9 b) 8 c)11 f{m
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A train covers 450 km at a uniform speed. If
the speed had been 5 km/h more, it would
have taken 1 hour less to cover the same
distance. How much time will it take to
cover 315 km at its usual speed?

gt ¥ FA g1 IR YeEmE fr A s
km/h 3T @I, O 3/ AR gh
9T & H 1 "UeT $H AT 9l
YAl AT AT § Tdd ¢ ST
fhat @aT & 315 km A gl 9T HM?
a)7h52m b)6h30m
c)6h18m 7h

| SSC CGL 2020 Tier 1 |



270kwm
50 X
S(s-Dx36
5 €O

A train is to cover 370 km at a uniform speed.
After running 100 km‘ the train could run at a
speed 5 km/h less than is normal speed due
to some technical fault. The train got delayed
by 36 minutes. What is the normal speed of
the train, in km/h?

THAAT I § Iad ge, fHdl Yeems
F 370 km & gl T FIA Al 100 km
Tl & dIg, FO dehellhl TIEN F HROT
IS 39T FHATT a1 & 5 km/h - #Y
FH I § goId! 8] IeEmE 36 RAde i
q ggehl| @IS Y AT TG (km/h H)

freray ofi?
a) 40 b) 48 ,{)/50 d) 45
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Akhil takes 30 minutes extra to cover a distance
of 150 km if he drives 10 km/h slower than his
usual speed.'How much time will he take to
drive 90 km if he drives 15 km per hour slower
than his usual speed?

f@e afy ol e e B goem A
10 km/h ¢l Trer ¥ I Temar § ar 3@
150 km &Y aT F H 30 Aere 0w
HAY o9dr g| d9fe 9§ N9« AT ATl
aeraam:ﬁrw km/h et Tarer & IS
Terar §, af 3¥ 90 km T g AT FA H
fraar gag daem?

a)2h45m b)2h30m

éﬁh d)2h15m
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¢:oopm q!00 PMA passenger train departs from Delhi at 6 p.m. for
P 8 G]ﬁth

€£ Mumbai. At 9 p.m. an express train, whose

— f —- average speed exceeds that of the passenger train

D 5Yo 540 M by 15 km / hour leaves Mumbai for Delhi. Two

?5- _ trains meet each other mid-route. At what time

S Lus €0 SH'S do they meet, given that the distance between
% 2L g ) the citiesis 1 km?

5&5{@2 ﬁ'_s_x/?{ vF I I Red ¥ AaS F AT O 6 a9

e feadt ¥ w wewdw &, Swdr stwa

/. T anh 2 @ 15 Telt / et e § o

9:00 ¥ W AT ¥ Reel & favw w@Em gl

s M d°f g1 A & T T A gEy @ e

US 6o 5| ¥ 7E awd gu B awd & @ gl 1080

c) 12 mid-night _&:ﬂ a.m.
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A\ jogger covered a certain distance at

/%ng)x ) L& some speed@ad he moved 3 km/h faster,

D —— :9; - he would have taken 20 minutes less [I_?he
had moved 1 km/h slower, he would have

taken 10 minutes morej What is the

q Cf distance that he jogged?
S+ S T WPR A 3 AQ T AR
—— & — gt ® a7 fhan afe ag 3 km/h AT
ol ,Qg T AT, @ 3@ 20 A FH oA
PANG P 8] Iy ag 1 km/h el afy @
A, @ 38 10 fAse 3R ™= o
D:/Q/L\Zx\_ S| 39d q@RT aF d1 AG g FAT
—_— &7
a)9 b) 10 /12 d) 8
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A car travels from P to Q at a constant speed. If its
speed were increased by 10 km/h, it would have

D = MX, W@'ﬂg&een taken one hour lesser to cover the distance. It
/l'@/% _Je Uvould have taken further 45 minutes lesser if the

L speed was further increased by 10 km/h. The

_ _ distance between the two cities is
D—@%Q—‘Mzokm TF N P ¥ Q d& fad o § = §1 afx
S amo gadh aifa 10 frelvaer @1 & o, &Y @
Y gl 99 F A U g FA AT Adl IR

B & wf F 10 RrAvee AR Fer REm Smr a
60 0 gad 3R 45 fAde &7 @l e et &
drT g &
a) 540 420 600  d)620
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